DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 5)

DIVISION WITH 1 TO 10 1;;1 Soomer |
121) 3477 =1 = 136) 67935 — 7 =
122) 8000 = & = 137 —13.414 = 2 =
123 20995 =~ 5 = 138) 69648 + 8 =
124) 926330 = 5 = 139) —424.14 =6 =
125 —1740 =+ 1 = 1o =545+ 2 =
126) 5.735 =1 = 1 4,268 +4 =
127) —58.404 = 6 = 142) 44555 =7 =
128) 856 = 10 = 143) 1625 =5 =
129) —1201.8 =2 = 1y 12594 =6 =
130) 56.33 + 1 = 15 —16.192 = 2 =
13) —0.35]1 =3 = 16) —10920 =7 =
132) 4776 = 4 = un) 74,502 +9 =
133) —6.33 = 2 = 18)  —42.426 =9 =
13) —174.69 + 9 = 1o —4517 -+ 10 =
135 —371.15 =5 = 150) 295.08 =6 =

Mathematics: Division - Level 6 - Horizontal - Set 5
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